
Unser Produkt wird Ihnen in 3 Paketen geliefert. Die Lieferzeiten dieser 3 Pakete können abweichen,

bitte haben Sie etwas Geduld und vielen Dank für Ihr Verständnis.

Our product will be delivered to you in 3 packages. The delivery times of these 3 packages may differ,

please be patient and thank you for your understanding.

Notre produit vous sera livré en 3 colis. Les délais de livraison de ces 3 colis peuvent différer,

soyez patient et merci pour votre compréhension.

Liquor Cabinet

Installationsanleitung / Installation Instruction / Instruction d'installation 
N620P174891 / N620P174894 / N620P174896

Issue 1 - 06/02/24





Male Camlock x 116

A

D

G

Female Camlock x 116

B

E

H

C

Dowel (8x30) x 55

F

I

J K L

Drawer slider 12" X 3

M

Handle & Fixings x 3

N

4*30mm Screw x 12

O

P Q
R

S

Door Hinge x 8

Handle & Fixings x 4

Magnet Touch x 4

T
U

V W

3*12mm Screw x 24

Plasticwedge x 38

6*48mm Screw x 4

3*14mm Screw x 68 3*16mm Screw x 38

4*14mm Screw x 4 Wall Fixing Pack x 2

Adjustable Foot x 1 Ø20 Sticker x 56

Wire Holder x 3 Hex Key M4 x 1

Shelf Support Pin x 24

6*40mm Screw x 8

Light Strip x 1

Components - Fittings / Komponenten -zubehör / Composants - raccords



Vor dem Einbau die Schrauben in die Löcher stecken und festziehen, 

aber nicht bis 100%, 70% bis 80% anziehen reicht aus. Schließlich, 

nachdem alle Schrauben installiert sind, ziehen Sie alle Schrauben 

auf 100%.Wenn Sie auf diese Probleme stoßen, wie z. B. Fehlausrichtung

der Löcher oder Unfähigkeit, bestimmte Teile zu installieren, überprüfen

Sie bitte, ob die Schrauben korrekt verwendet werden und passen Sie

die Dichtigkeit der Schrauben an.

Before installation, insert the screws into the holes and tighten them, 

but do not tighten them to 100%, 70% to 80% is sufficient. Finally, 

after all screws are installed, tighten all screws to 100%.

If you encounter these issues, such as if the holes cannot be aligned

or some parts cannot be installed, please check if the screws are 

used correctly and adjust the tightness of the screws.

Insérer la vis dans le trou avant la fin de l'assemblage, serrer la vis, 

mais ne pas serrer à 100%, 70% ~ 80% est correct. 

Enfin, une fois que toutes les vis sont bien serrées,

toutes les vis sont serrées à 100%.

Si vous rencontrez ces problèmes, par exemple si les trous ne sont pas 

alignés ou si certaines pièces ne peuvent pas être montées, 

vérifiez que les vis sont utilisées correctement et Ajustez leur serrage.

G H

3*14mm Screw x 68 3*16mm Screw x 383*12mm Screw x 24

E

DE:Bitte beachten Sie, dass die Formen der Schrauben E und G und H

      ähnlich sind.Bitte installieren Sie entsprechend der Anleitung und

      unterscheiden Sie sie!

UK:Please note that the shapes of screws E and G and H are similar.

      Please install according to the instructions and distinguish them!

FR:Notez que les vis E et G et H ont des formes similaires.

      Veuillez les installer en suivant les instructions pour les séparer!

DE:

UK:

FR:



Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

1

15

14

3

4

10

11

11

13

7

8

9

12

2

16

17

18

18

20

20

19

19

22

21

51

50

51

30

28

29

38

23

24

25

40

40

40

40

26

27

34

35

31

31

33

32

39

39

41

42

43

44

45

44

45

44

45

47

46

47

37

36

37

5

6

48

49

49

52



1 14 15 16 17

1 PCS1 PCS 1 PCS 1 PCS1 PCS

1 PCS 1 PCS1 PCS 1 PCS

23 28 29 30

2 PCS

1 PCS

36

37

1 PCS 1 PCS1 PCS

38 41 42

1 PCS

2 PCS1 PCS

43

46 47

1 PCS1 PCS 2 PCS

50 51 52

Part List / Eine teilliste / Liste des pièces

 N620P174891



19 20 21

2 PCS 1 PCS

22

2 PCS 1 PCS 1 PCS

1 PCS1 PCS 1 PCS

24

25 26 27

1 PCS 1 PCS

34 35

3 PCS 3 PCS

44 45

1 PCS 2 PCS

48 49

Hardware

1 PCS

 N620P174894

Part List / Eine teilliste / Liste des pièces



2 3 4

1 PCS

5 6

1 PCS

7 8 9 10

1 PCS 1 PCS 1 PCS

11

12 13 18

1 PCS

1 PCS

1 PCS1 PCS

2 PCS

2 PCS

1 PCS 1 PCS 1 PCS2 PCS

31 32

1 PCS

33

2 PCS 4 PCS

39 40

 N620P174896

Part List / Eine teilliste / Liste des pièces



Step 1

Step 2

D1 installed on No.1 and 2(Step2/Step3/Step8)

D2 installed on the bottom of the drawer.(Step 55)

D

E x 4

E

24

E

E

E

E

D1

D1

D x 3

24

X3

D1

D1

D2

D2

        8

        1

E

E

D1

Dog one exit ist in den 1-2 (Step2/Step3/Step8) dog one installiert.

D2, unters schublade stecken. （Schritt 55）

        8

        1

E

E

D1

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

D1 installé sur No.1 et 2(Step2/Step3/Step8)

D2, unters schublade stecken. (Schritt 55)

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw



Step 3

Step 4

E x 4

E

D x 1

D

E

E

E

E

D1

D1

A x 6

A

C x 4

C

A

C

A

C

A

25

25

24

24

        8

        1

E

E

D1

        8

        1

E

E

D1

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw



Step 5

Step 6

A x 6

A

C x 4

C

A

A

A

C

C

A x 4

A

C x 14

C

27

C

C

C

C

C

A

A

C

C

C

C

C

25

25

26

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 7

Step 8

35

34

L x 4

L

L

L

L

L

E x 4

E

E

E

E

E

D1

D1

27

26

27

26

        8

        1

E

E

D1

        8

        1

E

E

D1

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw



Step 9

Step 10

A x 8

A

C x 4

C

17 16

A

A

A

A

A

A

A

A

C

C

C

C

B x 8

B

1 2 3

17

B

B

B

B

B

B

B

B

27

26

16

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 11

Step 12

A x 8

A

A

A

A

A

A

A

A

A

40

C x 4

C

18

C

C

C

C

40

40

40

18

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 13

Step 14

B x 4

B

1 2 3

B x 4

B

1 2 3

B

B

B

B

39

B

B

B

B

40

40

40

40

18

18

40

40

40

40

39

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 15

Step 16

A

P x 4

P

S x 1

S

A x 12

38

A

A

A
A

A

A

A

A

A

A

A

A

P

P

S

B x 12

B

1 2 3

B

B

B

B

38

39

39

18

18

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 17

Step 18

A

A x 8

L x 4

L

A

A

A

A

A

A

A

A

L

L

L

L

1 2 3

B x 16

B

26

24

25

27

31

33

B

B

B

B

B

B

B

38

31

32

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

B



Step 19

Step 20

A

A x 8

A

A

A

A

A

A

A

A

23

1 2 3

B x 8

B

B x4

B
x4

23

26

24

25

27

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 21

Step 22

29

28

30

1 2 3

B x 8

B

B x4

B x4

27

25

24

26

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 23

Step 24

G x 4

G

Q x 2

Q

G

Q

G

Q

A

A x 8

32

33

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw

A

A

A

A

A

A

A

A

23



Step 25

Step 26

A x 10

A

C x 8

C

6

5

A

A

A

A

A

A

A

A

C

C

C

C

C

C

C

C

A x 10

A

C x 4

C

7

8

A

A

A

A

A

A

A

A

A

A

C

C

C

C

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 27

Step 28

1 2 3

B x 8

B

6

5

8
7

B

B

B

B
B

B

B

B

A x 12

A

1

A

A

A

A

A

A

A

A

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 29

Step 30

C x 4

C

G x 4

G

Q x 2

Q

3

4

C

C

C

C

G

Q

U

U x 1

1.

LED

U

2.

U

2

2

U

G

Q

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw



Step 31

Step 32

12

A

A

A

A

C x 5

C

G x 4

G

V x 2

V

G

V

C

C

C

C

C

G

V

A

A x 4

C x 2

C

C

C

9

G

V

2

2

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw



Step 33

Step 34

1 2 3

B

B

B

B

B x 4

B

K x 4

K

W x 1

W

3

4

K

K

K

K

W

2

12

2

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 35

Step 36

1 2 3

V x 1

V

G x 2

G

B x 6

B

5

13

2

9

12

B

B

B

B

G

V

1 2 3

B x 6

B

52

13

52

9

12

6

7

8

2

2

G

6

V

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw

B

B

B

B

B

B



Step 37

Step 38

51

50

51

1 2 3

B x 12

B

1

5

B

B

B

3

4

6

9

8

7

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 39

Step 40

B

1 2 3

Two people are required to

assemble and move this model.

B x 4

23

5

7

6

13

B

1 2 3

B x 4

H x 32

H

I x 32

I

l

HI

I x4

I x4

I x4

H x4

H x4

H x4

I x8

H x8

I x4

H x4

I x4

H x4

I x4

H x4

8

B

B

B

B

Nehmt zwei geiseln.

Um dieses modell zusammenzufügen

und zu verändern.

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

Deux personnes sont nécessaires

pour Assemblez et déplacez ce

modèle.

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw



Step 41

Step 42

T x 56

T

1

2

3

M x 24

M

M

M x4

M x4

M
x4

M
x4

M
x4

M x4

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 43

Step 44

M

M

11

10

11

37

36

37

G x 20

G

Q x 2

Q

F x 4

F

G x 20

G

Q x 2

Q

F x 4

F

G

G

G

Q

14

G

G

F

F

G

G

G

Q

15

G

G

F

F

O

O

O

O

O

O x 2

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw



Step 45

Step 46

G x 20

G

Q x 2

Q

F x 4

F

G x 20

G

Q x 2

Q

F x 4

F

21

G

Q

G

G

F

F

22

G

Q

G

G

F

F

G

G x 8

7

15

G

F

O

O

O

O

O

O x 2

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw

G

G

G

G



Step 47

Step 48

G

G x 8

8

14

G

F

A x 12

A

A

A

A

A

A

A

41 42

43

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw

G

G

G

G



Step 49

Step 50

N

N x 3

N

N

N

N

N

N

B x 12

B

1 2 3

44

45

B

B

B

B

B

B

41

42

43

41 42

43

44

45

44

45

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 51

Step 52

49

48

J x 12

J

J

J

J

J

J

J

41

42

43

44

45

44

45

44

45

49

41

42

43

44

45

44

45

44

45

47

47

46

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 53

Step 54

E

E x 12

E

E

E

E

E

E

E

E

E

E

E

E

D2

D2

D2

D2

D2

D2

1

2

3

41
42

43

45

44

45

44

45

44

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

E G H

3*12mm Screw 3*14mm Screw 3*16mm Screw



Step 55

Step 56

19

19

20

20

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage



Step 57

Zur sicherheit und stabilität raten wir ihnen, dies zu tun

Der sicherungskasten wird an der wand befestigt,

um geschützt zu sein Trinkgeld, verletzungen

und sachschäden.

WALL

（1）

drilling hole

Ø6x30mm

（2）

（3）

（4）

（5）

R

R

R

R x 2

R

R

R

ATTENTION:

For safety and stability, we suggest you have to

secure the anti tip accessories to the wall to prevent

tipping, injury, and property damage.

mauer

ACHTUNG:

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

mur

WALL

mauer

mur

WALL

mauer

mur

WALL

mauer

mur



Step 58

Die Montage ist abgeschlossen.
Assembly is complete.

Assembly Instructions / Ich stelle anweisungen zusammen / Instructions de montage

L’assemblage est terminé.




	ZG-072#餐边柜说明书二维版本01
	ZG-072#餐边柜说明书二维版本02
	ZG-072#餐边柜说明书二维版本03
	ZG-072#餐边柜说明书二维版本04
	ZG-072#餐边柜说明书二维版本05
	ZG-072#餐边柜说明书二维版本06
	ZG-072#餐边柜说明书二维版本07
	ZG-072#餐边柜说明书二维版本08
	ZG-072#餐边柜说明书二维版本09
	ZG-072#餐边柜说明书二维版本10
	ZG-072#餐边柜说明书二维版本11
	ZG-072#餐边柜说明书二维版本12
	ZG-072#餐边柜说明书二维版本13
	ZG-072#餐边柜说明书二维版本14
	ZG-072#餐边柜说明书二维版本15
	ZG-072#餐边柜说明书二维版本16
	ZG-072#餐边柜说明书二维版本17
	ZG-072#餐边柜说明书二维版本18
	ZG-072#餐边柜说明书二维版本19
	ZG-072#餐边柜说明书二维版本20
	ZG-072#餐边柜说明书二维版本21
	ZG-072#餐边柜说明书二维版本22
	ZG-072#餐边柜说明书二维版本23
	ZG-072#餐边柜说明书二维版本24
	ZG-072#餐边柜说明书二维版本25
	ZG-072#餐边柜说明书二维版本26
	ZG-072#餐边柜说明书二维版本27
	ZG-072#餐边柜说明书二维版本28
	ZG-072#餐边柜说明书二维版本29
	ZG-072#餐边柜说明书二维版本30
	ZG-072#餐边柜说明书二维版本31
	ZG-072#餐边柜说明书二维版本32
	ZG-072#餐边柜说明书二维版本33
	ZG-072#餐边柜说明书二维版本34
	ZG-072#餐边柜说明书二维版本35
	ZG-072#餐边柜说明书二维版本36
	ZG-072#餐边柜说明书二维版本37
	ZG-072#餐边柜说明书二维版本38
	ZG-072#餐边柜说明书二维版本39

